Solving Quads.notebook

March 04, 2013




Solving Quads.notebook March 04, 2013

Bx — 12 =23x% ol step

Shows £
22 - Exc+)2 = © ( your ansiw
IS (e or
(2D EST-9E  imagine
2 (33 /P\(d\ o'(
5_:__£_’2‘5 ki 2 : ¢»“ﬂ‘“’:§
(0 '\SC(OvM'Mk
S y=ua_ . ;
o =)




Solving Quads.notebook March 04, 2013

IO>< 35O
L/X k"/'z“\;' @eﬂ\cﬂbﬂ'
X + 0= + 2D >—2>-25:O 'ﬁ—:"B’_‘
(><+5) — 26 O (iz

4728 + 2%

(O +5) 28

‘X"'ﬁ—*re 4""64;28

<@ =)= TA\T V4 V5
< -=

- -5+




Solving Quads.notebook

A a2 9

L 2 -+ 1 - - — C
Bl t
Lf(?(—l—%)—-— |\ 2 = &
L’<X—+531: PA




Solving Quads.notebook

2 o)
O
S 12
A o= ' .=
(Zy ~+ \3(2»< — IO\
=



Solving Quads.notebook March 04, 2013

~20%%* +8x - 13O

— (D =T HT-HOOOD
2C D




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

